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I '» mwn: 3 issues relating to Y100
a  Eating burnables, burning edibles: if he intended to eat ymp or burn 071w the next day — 72
i Dissent: X" finds 908
b Minimal 1p¥. intending to eat or burn less than ' — fully w2
¢ Merging: intent to burn %2 m1a of ymip and eat %2 n*13 of 0»w the next day — 7ws
i Reason: we don’t combine n1vpn and nYIR
I Analysis of dispute nnan/x™
a  N"7ssource (»77 owa 'ox 77): v. 1- 938 YaRN equates “eating” of nan and eating by people; 5w a can apply to both
i And: cross-intents are valid wa-thoughts — since N refers to burning as n%a8
ii 227 use YaR» H3rN to teach that even if he says “naR” in lieu of "nvpn” it is valid (as »9)
1 Alternatively: just as N52R is minimally a n’13, so too nNopN is minimally a n>1

2 N77 accepts that, but if that were the only implication, it would state Y380 %3Rn (e.g.); use of two different con-

jugations implies both mw7
b Challenge (708 "35 179): if so, 8" should find nv>-liability for this sort of “cross-51a”
i And:ymvy 7 himself said — as quoted by 'ox "1 — that 8”1 does not extend n73 to these cases
ii  Answer: it is a RIN NPYNN —
1  Some: maintain that X"'s %109 here is n”nn (=%119) > N3
2 Others: hold that the 502 here is “merely” 13297 (1o n13)
3 Per: xn»aregarding no'nw with intent to drink the blood, burn the meat or eat m R after jnt
(@) oo >
(b) »77 908
(c) 71 77 in a case of intent to leave the blood “over” until the morrow — %104
4 Dissent (»10® 13 7t¥5% *7): here, too, 8™ and o'non disagree ("W3/7109)
(a) Analysis: "1 '7’s position would seem to be YHR 9T RIHR

(i) Argument: according to 1327, even when he has intent to eat — 7w3; certainly here, it would be Yw3

(b) but: if N> 7 is representing X”'s opinion, W”aR" is agreeing with him
(i) Rather: they must disagree whether 8”1 applies n13 to “cross-intents”:
1. »77. in the case of nnY% — only 7v9; in earlier cases, 8" holds that it is full Y18 (n”nn)
2. w7an7. in all these cases 8" holds that it is “only” %108 (= "2 9r”)
iii  Rejection: all 3 hold that it is only %9
1 7’ wnan/R™ disagree about “cross-intent”, but agree that o7 n”nb is Yws
2z wnan/R" disagree about “cross-intent”, but agree that o7 nn% is o9
(a) Reason: nvm against leaving all of the o7 (8n>1 indicating this is his position)
3 w7anT wnon/r™ disagree about all of them equally
iv  Critique: nmn "1 couldn’t have claimed that everyone agrees that n»n% is 5109

1 Story: ’51an qov studying with v”ar3, asked him what the status is of nan% and he kept answering him that it
is 7w3, until he finally added o2 8" and »931n qo1 was elated that he had found support for what nmn’ "3 had

taught him (v. 2)
(a) But:if nm " claimed that all agree that it is 108, how did w”arv’s answer gladden his heart?

2 Defense: 2110 qov was happy that he had finally heard someone represent the idea that nmn "1 had taught

him (as Y30 »a7) — that it is %100
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